23 22 21 20 19 18 17 16 15 14 13 12 11 10 9 3 / 6 S 4 3 2

6387
1621 /9 582 1998 2 1998 2 105
438 276.5 246.5 660 2 2 - B
(1 \ —(— 1 [
f 1= i N AL
H | 5 d £ 5 010 5
0 ©) 9
E L_J‘“;‘if © \@/ ©
E: " ATTTE Sk ° QH@ 0
I ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 8|8 N\ Y=
-
| ) ol e
_ ‘fgé - = ONRILLLSN 7,
> UJM* Q 0
[ : : T 2
C— 1 C— 1 C— 1
820 > \ 4217
930 5 SECTION B-B
- p— SCALET:10
1060 ~
- DETAIL D <i é% _
DETAIL G SCALE2:5 -
SCALE1:5 _ U
DETAIL H
SCALE1:5
% DETAIL B

SCALE1:5

| |
2

SECTION A-A l

SCALE 1:10 \\\\\\-//////

E e DETAIL F

SCALE2:5

DETAIL C DETAIL E
DETAIL | : .
SCALE1:5 SCALE2:5 SCALE2:5

'LEO'\_" PART NUMBER DESCRIPTION QTy.
1 001. COVER WITH PLATE 1
ASSEMBLY
, | 002. SEPARATOR ASSEMBLY - 1
12-E-402

] 003. HEATING JACKET )
ASSEMBLY - 12-E-402

4 | 004 INTERMEDIATE FLANGE 1
ASSEMBLY - 12-E-402

5 005. ROTOR TYP WF 1
ASSEMBLY 12-E-402

HEATING JACKET

7 | HEAVY DUTY NUT 7/8" UNC-9G| ASTM A194 GRADE 2H 168

STUD BOLT 1" UNC-8Gx220 -

SEPARATOR ASTM A193 GRADE B7 | 24

STUD BOLT 7/8"UNC-9Gx190 -

INTERMEDIATE FLANGE ASTMA193 GRADEB7 | 20

10 DIN EN 24018 - M24 x 90-NS ASTM A193 GRADE B8M 6

11 Hexagon Nut - M24 ASTM A194 GRADE 8M 6

12 LOCKING WASHER M24 ASTM A193 GRADE B&M 6

: H:
DDDDD SIONS ARE IN MILLIMETERS BREAK SHARP DO NOTSCALE DRAWING REVISION

NAME SGNAWRE | DATE | | e : THIN FILM EVAPORATOR
DDDDD S.BILEJANI 00.02.05 ASS EMBLY

TAG NO. 12-E-402

0012E2700 AQ

WEIGHT: SCALE:1:25 SHEET 1 OF 1

23 22 21 20 19 18 17 16 15 14 13 12 11 10 9 3 / 6 S 4 3 2



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Section View A-A
	Drawing View6
	Detail View B (1 : 5)
	Detail View C (2 : 5)
	Detail View D (2 : 5)
	Detail View E (2 : 5)
	Detail View F (2 : 5)
	Detail View G (1 : 5)
	Detail View H (1 : 5)
	Detail View I (1 : 5)
	Section View B-B
	Detail View L (1 : 2)


